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Z0IRAMHIA 3B SRESED
M- F= - S2(3H) - MRAY - BES p[E-Ll =%

939,172 856,265 82,907
= 73,072 73,072 0
= 23,768 23,768 0
= 842,332 759,425 82,907
a4 ¢ 24 45,787 33,787 12,000
QIAMEIA WS 45,787 33,787 12,000
U= HAFLR HUIAMSB 45,787 33,787 12,000
201 Et2Ad| 22,027 10,027 12,000
01 AtR2tel 22,027 10,027 12,000
O Zet=EZH| 12,000 0 12,000
0 A=A ERUHYE === 120,000&*100A 12,000 0 12,000
EXNFEXNE 22 701,514 630,607 70,907
= 39,227 39,227 0
= 23,768 23,768 0
= 638,519 567,612 70,907
gt= NHQUAANHIA X2 147,927 67,927 80,000
HOALXNEISREH D 147,927 67,927 80,000
207 A5l 80,000 0 80,000
02 & &HHEHI 80,000 0 80,000
OXNEZAN SE2CIAIAE HHO0IE 80,000 0 80,000
0 EZdUE Se2elAlAE HOU0lE
6,000 *4,0000H 24,000 0 24,000
0 OlsZclZ22N SE2elAAE HOU0lE
500& *112,0000H 56,000 0 56,000
HEZAIXIOF Z AL 90,051 99,144 29,093
IHESAIXIDOE ZA 90,051 99,144 A9,093
101 21 24H| 9,097 18,190 29,093
04 JIZHNIZ22XNSES 9,097 18,190 29,093
OMNESARIIIEAIEEQIR Y 9,097 18,190 29,093
0.7123 36,6903 *1.521 %230 x50% 6,330 12,659 26,329
0.Fx=< 36,690 x1.501+452 «50% 1,239 2,477 N1,238
0.=28A= 15,411,000 *1.501 %4 5%*50% 521 1,041 A520
0.2ALRHE
15,411,000 *1.501%2 . 82%*50% 326 652 A 326
0.1EEER 15,411,000 *1.521%1.3%*50% 151 301 A 150
0.4THEEZ
15,411,000 *1.521%10/1,000%50% 116 232 A 116
0.3JIRABE=
652,000& *1.521%0. 17%*50% 1 2 A
0. dXtE=5IHHl 36,690 *1.521x152 *50% 413 826 A413




